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(iii) JTT'l W:.«11 1 �"'1n:l JTT'l t I JTT'l � 2 ·,/\ 6 ci<lS '1Si :wfi ,/; ,!Ff t I W.f
� 7 -,\ 15 ci<lS <IT :wfi ,/; W-i -&; I JTT'l '8"'1T 16 ;/J 24 ci<lS <fl.I W!i ,/; C"ICJ
-&; ! m'l '8B1T 25 -,\ 30 ci<lS <IR :wfi ,/; JTT'l t I

l\otc: ()) There are in all 30 questions in this question paper. All questions are compulsory. 
(ii) !\forks allocated to every question are indicated against it.

(iii) Question No. I is multiple choice type question. Que,stion Nos. 2 to 6 are of one mark each.
Question Nos. 7 to 15 are of two marks each. Qu�stion Nos. 16 to 24 arc of three marks
each. Question Nos. 25 to 30 are of four marks euch.

� >R'l cl; ,r,i:rcr; = ,/; '3m ii "ITT � � •:4 '/; I '8m fuqj-o'l ol'Hf =-�! 
ii f&ltri! - I x6 � 6 
Four options are given in each part of this question. Write the correct answer in your answer book-

(c!i) Wc!RW � '"1 , l<il'l PH, <f5! '/; -
The chemical formula of common salt is-
(ii NaCl (ii) HCl (iii) NaOI I

(li) fiITTf: fcrn<R 'n1 pl-! 'lR 7 '/; I '16 fc\WF! l/rrr -

The pH of a solution is 7. This 30Jution will be -
(il "'rcma (ii) arrfra (iii) "�"�"

Acidic Alkaline 

(•r) f.i«1ft1laa i\ -,r cr:h m qrqq "ITT'iA 11 -

\\/hich of the ii)llowing is a plant honnone-

Neutral

(i) �� (ii) �WF'.iftRF1 {iii) l:!f<!0F1 
liistdin Thyroxin Oi.:�lrogcn 

I I l 

riv) H'IO, 

( j V) ""'1 ;/J cITT{ ·'ftt 
None of these 

(iv)�m�
Cytukinin

I P.T.O. 
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(ll) m'if&, qST '!D;cf, '/, -

lhc unit cifresista.nce is-
(i) c.;:0.:.,_ \ii) 3W! 

\'ol! Ohm 

(:s) i::;c,i=; \.l Ci,'1' BTf ct'!"�� 20 wn fi I� cITT a:r•mr ( -The focal length ofcom.:cx lens is 20 cm. Power of the !cm; is-
t1J 2D (ii) -2D

(o:�) f� � .:, - 0;\f'.T qi: 11n'qftqi Wcf -g -

(iii_) -t 51) 

In fnl!owing. the convention:.il source of energy is

(iv)�
Joule

(1v) -<D 

(iv) � w:iTT
(iJ �-,.\) �\'T'l 

Fossil Fuels 
(ii) xi'R w:,it

Solar Energ� (ieothcrmal Energy Nuclear Energy

CJ i \ '-' an c"\:1mpl� of di c,pl::i.ccmcnt reaction .

. ,. 1,"fi vRj F'."lf-1 qST '3sfe'-ruT cf!Mil, "11 � m ciJ WTTc "'7' c'. I Gin: an example or animal hom10ne that secretes from pit u1tary gt.ind.
I. Ft�fl �J�c/;hr \l-,ru: <-r7" �fqcr ctlT'tm I

!)clJ11,: clcctnnnugndic mduction .

.:; f4-,"'1 cf,I ;:,;q,.id;:; q)] f2p_p=f ftiftl� I
Writ--· Sn,:I/\, h\v of refraction.

<i_ \ -JJ \� ;3;H cftc� firf'I fclf�-zur � ;Jrl\.n'Pr qw 13"� cf)- W&n � t 7 I 'r<.1111 \> lli,J1 t·;.tJiation mdi�11<..;d by Sun, th.:: OLUns:: layer prukch !he eurth '?
7. t� "iIJ1 "Ml-;°J" ;tr 3� q,T � � x�- ;'"t,:i{7q I ⇒-u((/1 �) �•r 'l-fT ���II I 2Write onl> -:hcmical equation for the reaction of prcpo.L1t1Pn pf bleaching powder. Give its onec1sc al_,;,o_ 

,�. cJ,T<j� (;·11l1m'] cITT � � cfi 3TTSITT" lR f.::P::;.T ·dtftrc.JiT cf;[ �iJJ'"cJ-, -fU1 l.fi'\ivlt.; 
( )n th:: ha....,is vf lHJtnencL.nur1..· of rarbon compounds. Dcl.lnc th'-' following compounds --1 J I I I I 

J J 
I 

(,BJ l !---C--C--C--Cl 

I 
I I 11 J I 

( -3!) I 1---C � 0 
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0_ 1RT7fUT cf � -i'j 3R'R � I 

Differentiate hetween Pollination and Fertilisation. 

I O. c!F cf'll � ? >i'ci'R c/, 'lf'R i\ � 'f'TT ')I'1<l'T % ? 

What is saliva? What is its role in the digestion of food? 

How is th-., sex of cliild determined in human beings? 

12. N\'JJ -c�lT1 cf.) �3-j'f cf! �T -4 -qp::r: ·C,i1tc<1 qiT -qm.r ·q-df fW "G'flill -� ? � �rfi:rr:; I

Why i� the tungsten alrnost used as a filament of electric lamp"? Clarify.

What arc the fri.ctors on which the resistance of a conductor depends ? lcxplain. 

2 

2 

2 

14. \[qjf'/: ci, �� fl 3Wl 'l�r wr,;rir l ? ·f'rilj;'l 'li fum TT 'Ff � ,FrA 3li8cF c! �r =,\ 'F'l

lTTcTTt 7 2

What do you mean by spectrum of light? Which colour of spectrum deviates the most and which the

kac,t'1 

1-:;; -;-i-cTJa-� C'F'-f" ;}i•,r� �T �IT \'.f cmr � % ? � cfif � --T;<fi '37.Tgzuf cftftm ! 2 

\Vhat is mcam hy rc11t·,vable 2nd non-renewable sources of energy? Give one example of each. 

0 _, 

Wh:11 10, nwdcrn period law? Clarify the meaning of 'groups' and ·periods' in modem periodic table. 

17. (cfi) f,:r9).],{1 ·cp-.rT � t° ? � G.7" '3Gl$X0I -.fj � i

\Vhat arc alloys? Give its two example also. 

\!rnnc two :nctals which arc found in nature in tbe free state. 

3f"l<ff (OR)

2 

A non-metal X exists in two different forms Y and Z. Y is the hardest natural substance. \vhereas Z is a 

good conductor of electricity. Identify X, Y and Z. 
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1·-'-1+1 -- 3 

What happl'ns when (write only chemical equation) -

(en) Men aft TI� tl$'9l(flll�-S \T hl-m c#l- vmfr % I 

/inc reacts with s"1c.lium hydroxide. 

(B) ');\ ci, c!RT i\ 'liTiR .Sl�olliffil�0 •h! "q1ffia c!o� � ,\ I

Carhnn dioxide gas 1s passed in lime water.

(11) i� � 37:,°K cfcfi" <RB fcrm \nlITT °& I

lirsum is heated upto 373°K.

19. T"f q;� ;iry:ul c!iTc qS[ ITT� 3/R i3,fii � "!FTT ,;/1 2,,ij�1) -

Ora\\ lung1tudinal section of a flower and label fr)llO\\.ing parts in it -

(i) 1=RP1,r,,;!1 (ii) ,1Rhrw1 (Lii) .3� 

Anther Stigma Ov.1.ry 

20. (cp) cW�cfil..1 iJm djcJ[i..1CJl1..1 � if q'[fT � � ?

\\.'hat arc the differences bct\\-een aerobic and anaerobic respiration? 

(B) 3'R)R,Fl 'J'rn = cf, '3QIJlll <lit ,[@jjs c!'!T ,fr ;;imt it ?

\Vhy i� the use of iodised salt a,.h'isable?

Draw a neat and clean diagram of human alimentary canal and label the following parts in it 

(i) = (ii) Tci[(f (iii) cRfr 3lR!

Liver ! .urge intestine

31'-fifl (OR)

Draw a neat and clean diagram of human respiratory system and label the following parts in it 

(ii) :,Jc1l\hvt
'"'

i (iii) 011..11�PT

Lung Trachea Diaphrngm

22. (v) 1;v � 'lM i\ 200 V - I 00 W � t\ I "ffiITT \ITTRT'i1 '!Ill o1'1T ?

.\n electric bulb is rated at 200 V - I 00 \V. \\That \\·ill be its resi:,tnncl'? 

(B) "f'Tc!T\U ITT Zffi3lf ;],· "1 :(DJ Rli:cri; I

Write two properties of magnetic field lines.
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A 4 cm long object is placed at a distance of20 cm from a cr11i..::.ne mirror of focal length 15 cm. FimJ 

the positi\ln. si;,e and nature of the im:igc. 

3!'-l<ff (OR)

\Vha1 is mt:ant hy Myopia? Write the causcs and correction ur this defect. 

'Jan1L· .111; l\\O o.biutic componcnts of environment. 

(,g: ;;i�.:7:I m-f<T1 \[ 0-1� <tc.IT \fif�ffi t? '37,Tf,� ,';c.f1� <<·�i) I 
\ I '< 

\\ hat do you mean by Nucleur fusion? E:-.:plain with c,cunpk. 

\Vbat is homologou� s.�·ric_..; '? F:-.:plain with an cxampk-. 

7 

7 

2 

\\'hat is [stc1·ification? r-:.,plain witl1 chemical equatioll. 

'\:illK ;i md�ll and a nn11-ml'tc1I kiund in liquid stC1ll' at normal temperature. 

(B) ;)Timc/1 c-trfi'[q;'f ·q; 'Zll'lF<l :JUT'Y'lT lhf \3��{� cf51iG\ J'.'J: ��FC � fui 0fm� mfTrcITT (f)J

i'vlcnt1( 1 11 the gc11cr:1l pnJp, -'rli.:>s ll r ionic compuunds and l' l.1rit)· th:.n v,·h: do ionic Cl�mpounds ha\ c 

high m'..'!ting pl)inh 

11vf� c-1:iiT f.'r-z?TT"Cf'l i.:/ 7-lYl �"ct� 
\HHUf-� 3Tf'i� ft;rftcJI_[: 

3!'-l<ff (OR)

' 

• 

\\ h�ll 1:-,, the ditl:J"<. . .:nu.: bct\\L"en niasting anJ cakimtion .i \\.rite the chcrn11.::il reaction th:it takes 
pLil.'C during rn:1sti11g �Uhl c,tlcination or zinc ores. 

(u-) fli� 0i:'i1l�'-<H 4 \Jlf� (Im 3!TJ�cr �cl� 1:f0cti-·i ,i;'J-Rnir -
Tdcntit) the substance tk11 i-; o:-.idised and reduced in the l'ollowing reaction 

"1Hl'I -➔ ,lnCI. 7 211,0, Cl 
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27. (er;) ,<>II'< ,n-zi, i\ "m '1ST 'lT'R cITTii ITITT 1; ?
\\'hen.' d tlL'S thi.; digestivn of fat takes place in our body·: 

(Bl (;i,,l) qJ;J � -CT["cal'f Hi!S@ t.'r " � cf1l1 = q·,"'rT ? 
Wlwt \1,ill happen to a plant if its xykm i� removed? 

('1) ,Pl·ifX! cViT ,,e-,,,c! 3PTT 'I'! 1;cf,�(;cii ;:Jc;Jm <;iv{ 1{H81e'! I
1 ,pbin :m;.ilugcius and homologous organs with one e:-..:.imple each. 

28 fs\i\ ,,� 'lf,q,>[ 3!1�"1 i\ <fITRT *,i) � 
In the given circuit Jiagram, calculatc­
(i) � sfIT�,w, � mnf%c! fR;c �w 1. wn 11/i 

(ii) 
The ..:urrent !1owing through each resistor 
qftq�-l" cfi1 lfT(�f � 

C 

I he totul resistance uf the circuit 
(iii) ef-'q,, ii ""'ffi" c/;c'l filw! um

The toial CclHL.'.llt in the circuit

2. 9 (cfi) liC'1!TrrT i-?, T q] ..;_ b {d f.'n:rT � I
�10.tc l kming·s left h.1nd rule. 

(01) 1 ff[frclTTi \::fRT d2.TT -Rt£ URT if c::T 3TT!x �
--

�·n
r

iz I 
(ii\·e t\\'tl difkrences bdwecn alternating current and direct current. 

3/WIT (OR)

(cf;) fct·"# :w,nai �I;\) 'I'! JlTc!TT'!l � clil J!tlaTT ilm'TT Cf'lT IIBTTl l.'l<lT 1; ? 
Why d (!l"', the sky o.ppertr dark instead of blue to an astrnnaut 'i

' \ • ' � \; ' ,, G ,, 
----,4 �-:nl�I c/l'j x:l 1.!J0 QJq'-1\.l--ilcn Cj) <BTc.;" +--i m � 8" i c.j� .:;- � q,1 °cTT('f cR:;"i 

·if �-l'il'.tl cm cTTl'l 3 X 108 .fr."ff- 1 t I

2 

2 

l.ight enters fruin air to glass having n:fracti-ve ind..::x LSO. What \vill be the speed of light in
glas� 1 f the speed of light in air is 3 x 10° ms·- 1 • 

. ,o. 

\\']w1 1:-; the importance of fon:�t as �l resource ? Clari!)·. 
(;:i(i �7;;;- -f;Jl-'.'"JT \l '-FH 01rn:rn:r t -:i \.:·,vi ... �-..a:ror l:fJ ft'f\T � Mr c1r<il ·c,·1 q�q-:1i1a �:,·t&m ' . 

<4cil�'-l I 
\\'lwt do y0,u meun by water han·csting? \Vrite two tr:1,litinnal systems of water cnnserv:.1tion. 

3l"fiff (OR) 

\Vbat du you mcu.n by the three ·R·s to savr the environment'? Write in brief 
(�) ;}j'201 ,��n f21;!•1H �a �R � fu'M (f)T,:r ci; f�ic) Rm ,::J'f@f G 7 

1-"m \\hich sps:ciC1c \.\Ork, the ;\mrita Devi Bislrnoi n<1t1unal ;_iward is g,iven '? 
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